NOTE: In Exercise 20, students find the average speed in feet per second
needed to run a 4-minute mile. (Roger Bannister was the first personto do ,
this.)
What Happeneq When 'I_'hereWas a Why Did the Writer Enjoy Living in a Basement?
Kidnappingat Bizarre Middleschool?
Do each exerciseand find your answer to the right. Write the letter of the answer in

Write eachratioin simplest form, then find your answer at the bottom of the ‘ the box containingthe number of the exercise. If the answer has a . shade in the

page. Write the letter of the exercise in the box above the answer. box instead of writing a letter in it.

1. Write eachratio. 5 . :E!;. . . . . . . Write each;itloasafracuomn g@fstform Answers:
@ Starsto squares ?"@ Circles to stars

@m‘z ;z @4 8 s
® Squares to circles _ng Stars to al figures .3 . EEAEN n @ g1 10 @ 201012 = @ 5 ® 5
™ Starslnmrcles-s— {E) Squares to all figures * * * * * 5_]_ = ® 1 @ 4
3 (B es50 o O A 3 10 3
i & 3
. A Nscreenis 15u1 igh and 20 in. wide. Wm_ﬁl'ia(:h ratio. ® Bileen b Bawol 100 F . : @ 5
(H) Heightlowitth =F (&) Widihto height 3 () 7Boutol 780 75 () 5030 3 ®L G
- - - i 1 12 2
Hit. A magazine photograph s 24 cm long and 16 cm wide. The ratio of wins ks losses for a team with 60 wins
Write eachratio. and 90 losses. @ 7 @ =R
. N 20 1
@ Lengthte width "2 @ The ratin of girlsto boysin a 7th grade class with === @ 7 @ ]
(P) Width to length 16cm 300 girls and 250 beys. .'-6 3 3
= The ratio of red lo blue f le paint made b -
V. :’ar:%re are 30 stud;nts in a class, including 1A hnys. Write each @ mi;rzg 24002rif rgd \;Jlﬁh%rsaoguéfpbfllupeélﬂ madeby 7 . % @ .%
i ) re . The ratia of blue to red for a purple paint made by _7 ) 2
(® Gistoboys 8 _T(R) Boystogils 7 mixing 24 oz of red with 28 oz of biue. ' ® ®s3
® Girlsto all studanis ={ | ) Boys to all students 1%
V. Afire-breathingswamp monster is 36 feettall. When last observed, his shadow was 40 Il Write the ratio of the two measurements in the
feetlong. Write eachratio. a, unitindicated (a unit rate). 20
® Huight af manster 10 1angth of shadw lo @ Acar traveled300 miles on 15 gallons of gas. Answers:

(miles per gallon)

@ Length of a W o height of mansler Ima Smurf typed 120 wordsin 3 minutes. 4o @ 48 . 560
V1. Count the number of teeth on each gear TN\'Z—, (wordsper minute)

Then write each ratio. D, Cranium travaked 2.800 milesin 5hours. S GO @ 32 @ 22

@ Teeth on Gear X to teeth on Gear Y 2‘ tiies per haur)

@ Teethon Gear Y to teethon Gear Z , = % 18 ég&%{g‘g;g?%ﬁﬂgesm 3omintes. 32 @ 15 .20
Teethon Gear X toteethonGearZ g ¥ Gloria Trench earned$144 in 8 hours. 18
® - (dollarsper hour) @ 40 ® 520
H
b [fdae HER |WwoKe [Hi|M 'y @ fogerSamiserangig feen A mipies. 5 ®n ®O
slefile alsltalitzl falslie' 7729l 378 5 a[e 2
8|7 (85|97 W |7 T e T |7 W|T BT FIT 3 13,37 |s+s'§. 51 |4 FirT1la " a |12 14 2]20 m|14 6
: : ;T [WwasS "|al eE[s T| CclEL|tar
E-7 TOPIC 1-a Rato
TOPIC 1-b Raha and Rate E-8
What Did Snidely Say After Filling
T receive? . . .
1 What should the JOLLY GREEN GIANT receive? His Car With Sl.lp er Premmm,
ITwE NOBEL PEAS FPRIZE .
18 11 16 15 52 18 70 2 80 18 9 i2 13 80 20 30 1 18 TOpTESt, Power Plus Gasoline?
2 Why did it take the GOAT more than 3 hours to finish a 20-page book? [Tl "Sctva sach prablem and find your answer In the reciangle below. Crosa
HE _'N'__A__S_N:['_ _V_E._& Y HUN G_&_Y ! amhebn:ﬂ\atmhs;rcuramr,Wnsnywﬁn'm.wnnlholmrs
5 1821 8 9 12 16 6 24 4 20 3 60 5 10 8 7 20 | 1 Ihe remaining bazes In the spaces at the battom of Ihe page.

(@0
mesl  Solve each proportion and find your answer in the code. Each time the answer . .
hom : : The Jelly Junior High school color is Jose can read 7 pages of his book in
I" appears, write the letter of the exercise above . = @ made by mixing red paint with yellow @ 5minutes. At this rate, how long will it
paint. The ratio of red to yellow is 3 to take him to read the entire 1 go
@ 2 .12 30 @ 2.8 n. @ 5 _ 2 T 5. How much red paint should be book? I min
5 n 4 n 2 [ mixed with 20 oz of yellow? | 2 @
[+3 While exercising.Julie found that her
heart was beating 12 times every 5
e Lawn Order lawnmower factory seconds. How many times was it
The L Order | fi ds. H i i
can produce 12 lawnmowers in 8 beating per minute (60 s 7
@ w_n |5 ® 3.0 3 @ z_n b hours. How many hours willit take the ec?_ﬁﬂ
4 £ 15 ] B 4 factory to produce 30 Iawn%s?
3 If there are 1.200 caloriesin 8 oz of
hot fudge, how many calor] In3
@ An object that weighs 10 Ib on Earth oz of hot fudge?
would weigh only 4 b on Mars # you
£ B_n % .7 710 weigh 95 Ib on Earth. hew m At a certain college, theratio of men
@ % a % IO n 3 q @ n 10 would you weigh on Mars? pge L] ® @ women is € to 5. K there are 1.500
men, how many women a2 n
@ The ratio of orange juice to pineapple a]sl ‘l“?o
juice in Tropical Treatpunchis 4to 3.
Bill has 64 oz of orange juice How One of the world's largest stained-
a B n 18 much pineapple juice does od? glass windows is at Kennedy
@ r 3 4 @ a2 7 | ® LA §§ 5‘ EFg International Airport in New York. Itis
2 arectanglewith a heightlo length
@ A cookie recipe for 60 cookiescalls ratio of 2 to 25. If the windo
for 4 cups of flour. How much flour is teet high. how long is it?
neededto make 90 cookies? [
M7 8 _12 cups
W1 8 ®s=% IS =4 52
H_8 1 FLI )}
®5=5'2.O ®n'1m 80
|
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Did You Heer About... What Is a Termite's Favorite Breakfast?

A B C D E F
For each pair of similar figures, find the lengthx. Cross out the letter next to your
5 THE \'_A(R ITER I who ZROPPED K TEN ?TOR 1€ answer. When you finish, the answer to the title question willremain.
INTO A TRASH CAN AND LIVED?
—*l <l
Use a calculator to do each exercise. Find your answer and M Sem @ 8 ™ @ q ™ "
notice the word next to it. Write this word in the box containing
the letter of the exercise. = 14cm 12m
t 9m 15em 12cm
15

1. Solve. Round each answer to the nearest tenth. 24.7 PIECES "(

75 a2 15 . 80 R 4 e mim 6m * 20em

-5 67 il T 218 STORIES p < lsem 2l im

& o 78 4 1,840 FAINTED - Yoem Lk
@9.4' 322.0«4 x 28 |97.5 s wWlam @ 18 om @

187.5 DROPFED b " 10w,

12 _ 314 3.8 ®L=3i§2|8 w | 24in.

- 100 ‘ 19.6 THAT 35mn
® 54 o g 0 |126m 30¢cm 24 cm
il. Solve. Round each answer to the nearest whole number. S i6ft

[ X X

Tom'sred bicycletravels 50 ft for every 3 pedal turns. How N 4Bm 50 1m,

@ many pedalturns are needed to travel a mile (5.280ft)? 317 @ - 'B m
. | 2Lin. W

@ For a survey, a company decidedto call 7 out of every 5.000 7ain

people How many people should be called in a town of <L | 44 om .

78.000people? 109 127 THASH 25'in 30m

Bl & 10cm x

@ GloriaTrench checked her gas mileage and found that she 1.385 PILE ©

had used 16.6 gal of gas to travel 372 mi. At this rate. how am

many gallons will she use to travel from San Franciscoto 127 37 INTO l— 25m Bm

Washington, D.C., a distance of 2,850mi? Q| 48in ® 12 erm

21

@ AUS. nickel contains 3.99 of copper and 1.2g of nickel. ¢ o & a4 om cm @ Him

How many kilogramsof copper rmust be combined-with 500 *»

kg of nickelto make nickelcoins? £2.7 WRITER g |a2m 20 m x ¥
® On the stock exchange. 100 shares of Pizzazz Corp. stock .235' 20m

are sslling for $425. How many shares can be purchasedfor 14m EOm

$1,0007 324 FROM 35cm
@ At Paul Bunyon's loggingcamp. the cook scrambled 20 1,920 1,920 LIVED A fla . .

3 gpole casts a shadow 10 ft long. @ Aphotographis 25 cm wide and 20
eggs for every 3loggers. How many eggs did he need for */ 2115 WROTE @ If aman 6 ft tall casts a shadow 4 ft . cm high It must be reduced to fita
the 283loggersat the camp? ’ long at the same time of day, how tall space that is 8 cm high Find the width

is the flagpole? | 5 -F-(- of the reduced photograph. F¢3 €y
E-11 TOPIC 1-¢ Using a CaloEOr Solving Proportions TOPIC 11 Samuar Figures E-12

NOTE: Students need metric rulers for this puzzle.

What GoesHa! Ha! Ha! Thud? What Do CentipedesHate ToDo?

!

Scale»2cm:3m

Do each exercise and find your answer at the
A.lem ©.0 e bottom of the page. Write the letter of the
exercise in the box containingthe answer.
l.f,_ 3 ballroom tiorary 3.2¢m . Write a parcant for tha amount shaded,
c<wm
e N
A
gallery 3.9em
2.8 parior tayer -
o 1. Write a percent for each
5.5 em 3.6 em group of circles. 1] 1] 1]
i i i " " i SOOQOO000000002000
Thisis a scale drawing of one floor in a European castle. Do each exerciseand find (A) theshadedcircles33 R Q003
your answer in the adjacent answer column. Write the letter of the answer in each . ,OOCOOOOOOOOOOOOOCOOO
box containingthe number of the exercise. @ the unshaded C"Bgi? A 30000000000000000000
1. One dimensionis given for each room. Measure to find the other dimensionto the nearest i1, Write a percent for eachratio.
tenth of a centimeter. 9 lem (&) 110100 | o ®a31010083?0@ 54 100 34 7e (Ty2:10 207
@ @asem @ 6o ® 5" G G 8% i 5O%
by 32cmby_@:Q € 7, 98 % wod 107
% G- ® s3em (@) 34om ® 06262%e  (©) 038 @os40T  @oil0%
parlor .8cmby % 8677 i/ i g 100%
9.1em 5.5em 0033% G) 0.86 ° 007 7 i.0
@ foyer 2.8cm by 3.bem @ @ @ O @ @
@ I 6.0cmby 3.9em ® 3.9cm . 8.4cm IV Solve
'ga e ) ) ‘ ‘ . . @ There are 100 centtmeters in a met%o @ Gulliver tossed a coin 100 times and
1. Find the actual room dimensions. ("Length refers to the longer dimensionand "width" to What percentof a meteris 30 cm? 7o got 43 heads, Wh i;cg of the
the shorter di ion.
e shorter dmension.) ® 8.65m ® 4.2m @ There are 100 cents in a doll lé)%at tosses were fas?
Iangth ﬂ;&e ‘5@ width of the6 Y& ra percent of a dollar is $0 15? F Of 100 studentssurveyed. 90 chose
beadlroom (S ballroom . am 1585m O Of the 100 million acres in California. math asthelrfavonti B%whas
length of the @ widthof tl:i 8 5.4m 8.25m the federal government owns.:l}%m parcant chose math?
library *f ¥ library i acres. What percentis this? A sheet of 100 stamps has 22 stamps
length of the_ {11} width of 13.25m 815m left. What percentof ps has
pargllorB , 25 parlor L‘T- Zzm % 6.45m @ 51m alreadybeen used? %w ‘
langth gi 1 width of the W, m:m“w_ﬁs%.ta&s 0% 24% | 25% | 2O | O0% J0% &% | 4 | 457 48% SO
®Tuyatg'.¢'“®gallery .85 m ® 5.85m © 48m START T H|E D A ¥ |D e |F
2[5 2]z [1e[1Z]|4 91376 2|9 |13| 611(13[5 12 7 1a 1|4 54% ' 57% 59% 60% | 62% | 67% | 71% [75% | 78% | 80% | 83% | 86% | 833%| 90% | 96% | 98% [100%
AM&NCAUEIHT NG RIS KEA B0 FF o N’ g/ WRrRo|Na | Fple
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